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Question Number : 1 Question Id : 206205983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
News groups are also known as

Options:
1 # chat services

-  discussion groups
- % email services

4 % forums

Question Number : 1 Question Id : 206205983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 206205984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which application was Messenger Mailbox present?

Options:
, w Internet Explorer

5 of Netscape Communicator

3z % Email

4 w Searchengine

Question Number : 2 Question Id : 206205984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



AU Foreted e & F forg Tooliherd & g3 &Tar um?
Options:

| % FAT TFERAT

et T FEOaeed
X% 5

ER

Question Number : 3 Question Id : 206205985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which view does the Notes pane appear by default in Microsoft PowerPoint?

Options:
1 « Normal view

> % Outline view
= % Insert view

4 ® Design view

Question Number : 3 Question Id : 206205985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 206205986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Microsoft Excel 2010, a pie chart can be generated from the memi.



Options:
1 # Data

- % Illustrations
= o Insert

4 % Presentation

Question Number : 4 Question Id : 206205986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 206205987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ALU stands for ;
Options:

, « arithmetic logic unit

> % array logic unit
- % application logic unit

4 % application layer unit

Question Number : 5 Question Id : 206205987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 206205988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a bootable disk?

Options:
{ % CD-ROM

> % Floppy disk drive
z % DVD drive

4 « DOS

Question Number : 6 Question Id : 206205988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » ®EIA (CD-ROM)

, » 318 (DOS)

Question Number : 7 Question Id : 206205989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Name the output device that creates a three-dimensional object from a digital model by layering materials such as
metal alloys, polymers, plastics ete.

Options:

1 #% OCNC Printer



> « 3D Printer

- w Object printer

4 » None of the given options

Question Number : 7 Question Id : 206205989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 206205990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where are AutoText entries stored?
Options:

1 « Normal.dot

5 % Temp Doc

= # Auto Doc

4 % Store Doc

Question Number : 8 Question Id : 206205990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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= % Auto Doc

4 % Store Doc

Question Number : 9 Question Id : 206205991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a new Worksheet, cell Al contains. 5. cell A2 contains 7 and cell A4 contains 9. If cell B1

contains =COUNT(A1 : A4). the following result will be displayed in cell B1:

Options:
1 ® 0

Question Number : 9 Question Id : 206205991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 10 Question Id : 206205992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an extension for a graphics file?

Options:
1 « TUFF
> % BMP

- % GIF



4 % WMF

Question Number : 10 Question Id : 206205992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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. ¢ TUFF
. % BMP
s = GIF

. # WMF

Question Number : 11 Question Id : 206205993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which was the first network that planted the seeds of the internet?

Options:
| v ARPANET

-~ % NSFnet
= ®% vnet

, = Internet Explorer

Question Number : 11 Question Id : 206205993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

.« ARPANET

> % NSFnet
z % Vnet

4 » Internet Explorer

Question Number : 12 Question Id : 206205994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following protocols is used to send mail?

Options:
, % HTTP

> % TCP/IP
2 ® FIP

4  SMTP

Question Number : 12 Question Id : 206205994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % HTTP
- » TCP/IP
2 % FTP

4 « SMTP

Question Number : 13 Question Id : 206205995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following programs takes user input, interprets it and takes necessary actions in UNIX?

Options:
1 # Kermnel

> « Shell

5 % System calls

4 % Scheduler

Question Number : 13 Question Id : 206205995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 206205996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The data is stored in the before placing it on the data bus.
Options:

, % emory access register

-  memory data register
5 % memory arithmetic register

4 % memory address register

Question Number : 14 Question Id : 206205996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 206205997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where can you check the IRQ availability while installing PCI NIC card?
Options:

, w Dip switches



-~ % CONFIG.SYS
5 w Jumper settings

4 « Motherboard BIOS

Question Number : 15 Question Id : 206205997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

> » CONFIG.SYS
., v HEIaE BIOS

Question Number : 16 Question Id : 206205998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following can be used for the concatenation of text strings in MS Excel?

Options:
, » Apostrophe (*)

» % Exclamation (!)
- u Hash (#)

 Ampersand (&)

Question Number : 16 Question Id : 206205998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 17 Question Id : 206205999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A [An) is & controlled private network allowing customers. partners. vendors, suppliers and other businesses to
ain information, typically about a specific company or educational mstitution, and do so without granting access to the
organization's entira natwork.
Options:

1 % LAN

> « BEXtranet
= # WAN

4 % MAN

Question Number : 17 Question Id : 206205999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

> « Extranet
= # WAN

. # MAN

Question Number : 18 Question Id : 2062051000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

When you delete a file, it is moved to the by default.
Options:

, « Recycle Bin

> % Pictures folder



= % Documents folder

4 % Control Panel

Question Number : 18 Question Id : 2062051000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 2062051001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following feature of Microsofl PowerPoint allows you to copy the animation from one object and apply on
another object?

Options:
1 # Format Painter

> % Painter
- » Copy and Paste

4 « Animation Painter

Question Number : 19 Question Id : 2062051001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 2062051002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of learning that takes place in an electronically simulated environment is known as

Options:
1 % e-mail

o  -leamning

z % e-commerce

4 % e-banking

Question Number : 20 Question Id : 2062051002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 2062051003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the third generation of wireless technology.

Options:
1 ® 2G

o ¢ 3G

5 # Streaming



4 # TV Tuner Card

Question Number : 21 Question Id : 2062051003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 2062051004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which keys are used to create a shortcut instead of function keys?

Options:
, » Toggle keys

- » Special keys

5  Combination keys

4 % Numeric keys

Question Number : 22 Question Id : 2062051004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 2062051005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
measurement is used to determine a printer resolution.

Options:
i % BPI

> » Dpi

= APi

4 CPi

Question Number : 23 Question Id : 2062051005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % BPI
> v Dpi
. % APi

4 % CPi

Question Number : 24 Question Id : 2062051006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is like a container in which you can store files?

Options:
1 ®% “Icon”
- % “Document™

3 « “Folder”

4 8 “Sheet”

Question Number : 24 Question Id : 2062051006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 2062051007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A file created using Notepad is stored with the extension

Options:
1 v :.ITKE.".-
> # “.docx”

3. é';{ :u.pﬂg."."

4. %3 :n'..jpg:?

Question Number : 25 Question Id : 2062051007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 2062051008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a package used for composition in a printing press.

Options:



1 % Lotus
> % dBase
-  Page Maker

4 # Word Perfect

Question Number : 26 Question Id : 2062051008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 2062051009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Error in the computer program or system is called:
Options:

1 ®% virus

o o DUE

- % exception

4 % patch

Question Number : 27 Question Id : 2062051009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 28 Question Id : 2062051010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Usually. the term “memory™ applies to:

Options:
1 % control

-  Storage

5 = logic

4 % input

Question Number : 28 Question Id : 2062051010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 2062051011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To delete a word before the insertion point in Microsoft Word use key combination.
Options:

,  Ctl—+ Backspace

- % Shift + Backspace



3z % Cirl + Delete

4 % Shift + Delete

Question Number : 29 Question Id : 2062051011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, « Cftrl + Backspace
., % Shift + Backspace

2z # Citrl + Delete

4 % Shift + Delete

Question Number : 30 Question Id : 2062051012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following command is used to retrieve data from data base in MySQL?

Options:
1 % Insert
> % Delete

2 « Select

4 ® Update

Question Number : 30 Question Id : 2062051012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 31 Question Id : 2062051013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The language which is understood by computers is

Options:
, w English language

-  Machine language

- u Secret language

4 % Microsoft Intermediate Language

Question Number : 31 Question Id : 2062051013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 2062051014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

~are hardware devices are non-essential devices that are not part of the main computer svstem and are mostly
added later to the system.

Options:

, w Clip art

> % Utility programs
%z % Antivirus

4 « Peripherals



Question Number : 32 Question Id : 2062051014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 2062051015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which is the most important/powerful computer in a typical network.

Options:
, » Desktop

> % Network client
5 « Network server

4 % Network station

Question Number : 33 Question Id : 2062051015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 2062051016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a program that enables one to perform calculations involving rows and columns of numbers.

Options:
| « Spreadsheet program

» % Word processor
5 » Graphics package

4 % Window

Question Number : 34 Question Id : 2062051016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 2062051017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When you activate the spelling and grammar checker.:

Options:
1 it displays the misspelt words in the dialog box.

- % it auto corrects the misspelt words in the documents.
5 u it deletes the misspelt word.

4 % itdisplays the abbreviated words in the dialog box.

Question Number : 35 Question Id : 2062051017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 2062051018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which tab 1s used to copy formatting from one area in a worksheet and apply it to another area?

Options:
, % Thehome tab of the slides group and chose Paste command.

-~ % The copy and apply clipboard task pane. located under the insert tab of the font group.
5 % There is no way to copy and apply formatting in Microsoft Excel you have to do it manually.

4 + The format painter button on the Clipboard group.

Question Number : 36 Question Id : 2062051018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 2062051019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



To select a column in Microsoft Excel. the easiest method is to

Options:
, w double-click any cell in the column.

> u drag from the top cell in the last cell in the column.
5  click the column heading.

4 % toselect Ctrl + A.

Question Number : 37 Question Id : 2062051019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 38 Question Id : 2062051020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What does the letter C in the acronym MICR stand for?

Options:
1 % Code

> % Colour

- » Computer

4 « Character

Question Number : 38 Question Id : 2062051020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gfeeg ¥ MICR & C 38T &1 §f8g &4ar g7

Options:



Question Number : 39 Question Id : 2062051021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
*Zipping® a file means:
Options:

| w encrypting it

- % decrypting it

5  Compressing it

4 % transmitting it

Question Number : 39 Question Id : 2062051021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T GBS o T30 & &1 39 2
Options:

; % Uleshte &Ll

o TBfee &ar
5 v FEAT FIAT
, » TEAT HE

Question Number : 40 Question Id : 2062051022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name (letter) of the last column in Microsoft Excel in 26 base systems?

Options:
1 « XFD



> % ZZD
s % YDT

4 % IXZ

Question Number : 40 Question Id : 2062051022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
26 80 UTeH H AEHAYE THld H JAOH FoH FT ATH (378TT) F4T 272

Options:

1 « XFD

> % ZZD
s % YDT

4_%32){2

Question Number : 41 Question Id : 2062051023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Microsoft Excel, the numbers in the table columns are usually:

Options:
| « Tight-aligned

> u left-aligned
- » Justified

4 % centered

Question Number : 41 Question Id : 2062051023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATSHIETE Tohie H &9 FlaIH H HEAT HHGRT W BT 2
Options:

| v B8 I WEF

L« A% AT W



L o« SEEE
4.@,3#%?-

Question Number : 42 Question Id : 2062051024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
By default, a computer peripheral printer prints documents in mode.

Options:
, w landscape

o  Dortrait
5 % page setup

4 % print view

Question Number : 42 Question Id : 2062051024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fBwiee 77 &, e Fvgex TRERe fe Az # STFgHT F BT F=ar B

Options:

Question Number : 43 Question Id : 2062051025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The process of searching bugs in software is called:
Options:

, w» compiling

> # testing

- % running



4  debugging

Question Number : 43 Question Id : 2062051025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HFESAT H 97 Fr G FI Sr IHAT FF FHal AT ¢

Options:

4 v SrEreEr

Question Number : 44 Question Id : 2062051026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Security association (SA) is a very important aspect of :

Options:
1 ® SSL

> o IPSec
z % TCP/IP

4 % SSA

Question Number : 44 Question Id : 2062051026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
BFaidr v (va.v.) Ggesr v g HEcaIUT T8 87

Options:

, % SSL

> « |IPSec
z & TCP/IP

. % SSA



Question Number : 45 Question Id : 2062051027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
connects two or more system and transfers messages between them in an email system.
Options:

; = Remote gateway

> % Default gateway

-  Mail gateway

4 % Subnet gateway

Question Number : 45 Question Id : 2062051027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

W T A s TR I e T T R S s e AR S
TR ¥ #9T TEwT T £

Options:

1 ® ﬁﬂﬁ?ﬂ?ﬁ'
> % fBwlee ed
3 v He e

EE 'HE?EE'fEﬁ.'

Question Number : 46 Question Id : 2062051028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
band in action centre means the problem needs to be paid attention soon in Windows.

Options:
1 % Red
> o Yellow

z #® Blue

4 % QGreen

Question Number : 46 Question Id : 2062051028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



THFT Hel H a5 F WY ¢ &F TET 7 gETm 9T 6 eua fEI A= =g
Options:
1 ® GIE]

2 v W
o ® Eﬁﬁ'

4.@3@-

Question Number : 47 Question Id : 2062051029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Modem AT refers to:
Options:

1 % Atftenuation

> % Automated Telecommunication
3 « Aftention

4 % Advanced Technology

Question Number : 47 Question Id : 2062051029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ARH AT 21T &

Options:

&fUTe (Terguer)

1 ®
| TIIO GTHAR (HTEHES Teleradfainere)
L o HAUA (3EAH)

4 « USATES FATATS

Question Number : 48 Question Id : 2062051030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
File encryption in Windows using encrypting file system (EFS) is managed by:

Options:



| « Windows Explorer

- % Cipher
- % Packer

4 w Device Explorer

Question Number : 48 Question Id : 2062051030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I TS JUTST (S.UF.UH.) F ACTH ¥ BEd Uik &as a & smar 32

Options:

lfﬁmm
5 % AP
3_&'3‘3-7{

, % BIEH THFHERT

Question Number : 49 Question Id : 2062051031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the keyboard system, the request key was introduced by IBM with the :

Options:
1 « PC/AT

> % PC/XT
s % PC/ATX

4_ S PC.-'IX

Question Number : 49 Question Id : 2062051031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Frars faren 7, 3mRaeA I e F= Fas gy sl & o o

Options:

. v PCIAT



» % PCIXT
- » PC/IATX

4 % PCIX

Question Number : 50 Question Id : 2062051032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used for Go To option in Microsoft Excel?

Options:
1 F5

o B F7
T B F2

4 B F3

Question Number : 50 Question Id : 2062051032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ABFHHEIFE TFET H Go To feew . o & forw @i #r ecsre =it 3o & ST 872

Options:

1_;,'—-“F5

Question Number : 51 Question Id : 2062051033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a financial function?

Options:
; % FV()

» » SUM()

3 & NPV()



4, ® PMT()

Question Number : 51 Question Id : 2062051033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=fefEa & 9 w9 o = BT B A8 87
Options:

;. % FV()
o« SUM()

-« NPV()

, % PMT()

Question Number : 52 Question Id : 2062051034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to create a hanging indent in Microsoft Word?

Options:

1 % Ctrl+1I
> o Cirl+T
3 & Cirl+L
4 ® CITI_Q

Question Number : 52 Question Id : 2062051034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ATSHIEIFE T5 H g1919T $5C Bl Gallel & o0 i H TH@ Pl HAIST FAT T ST 22
Options:

; & Cirl + |

@ Ctl + T
2 % Ctl + L

L% Ctl +Q



Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 2062051035 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension

READING COMPREHEMNSION

206205132
2

Online
Mandatory
1

1

5

Yes

No

1
206205132
Yes



Read the passage given below and answer the questions that
follow by marking the most appropriate option out of the four
given at the end of each question.

A remarkable feat was achieved in the history of Indian ornithology
with a Mumbaikar having travelled the entire country. 80.000 km. to
record 1.128 bird species. This includes rarest ones like the
Himalayan Forest Thrush. Tibetan Lark. and Chinese Francolin.

The wildlife biologist. Shashank Dalvi. was on the project “big
year”. Under this challenge promoted by Cornell University, birders
take up a geographical location to record its bird diversity. Dalvi is
the first Indian to map the country’s entire coastline, rainforests.
sanctuaries and deserts to record bird species.

Such exercises are important in view of shrinking wild habitats and
climate changes. With temperatures rising in a few years. these
species may be lost forever. The data collated through such efforts
can inform us of their changing migration and distribution patterns
through seasons.

India 1s among the 12 ‘mega-bird diversity countries of the world’
with an estimated 1.314 species. Over 13% of the world’s birds are
found in India. as per Bombay Natural History Society. Of these,
150 are seen only once or twice in the history of bird sighting in
India.

Dalvi undertook this feat from 1 January - 31 December 2015. He
spent four months in India’s Northeast — “the richest belt housing
about two-thirds of India’s bird diversity.”

He spotted several species here like Lord Derby’s Parakeet and
Gould’s Shortwing in eastern most parts of Arunachal; Burmese
shrike in Nagaland and Chinese Francolin in Manipur. In Kargil.
Dalvi spotted the Long billed Bush Warbler. not seen in India since
1977. He saw Tibetan Lark in Ladakh and the Rufousvented Prinia
in Punjab.

Another large bird reserve Dalvi found was in Andaman and Nicobar
islands. Among his catches were: the Nicobar Jungle Flycatcher.
Central Nicobar Serpent Eagle. Arctic Warbler etc. A certain
category of birds called ‘Pelagic’ or ‘offshore’ birds needed him to
travel beyond the beaches of Kerala and Karnataka. Here he sighted
Storm Petrels. Skuas and Shearwaters.

He made it to the Desert National Park. Rajasthan. just in time fto
spot seven-odd species of migratory birds. These include the Spotted
Flycatcher. European Nightjar and the Great White Throat.

He added. “*Several birds I saw are in the list of ‘Threatened Species’.
With this documentation. we will certainly understand them better
and they will remain in our memories.”



Sub questions

Question Number : 53 Question Id : 2062051036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The remarkable feat achieved by Shashank Dalvi, was that he:

Options:
= travelled 80,000 km across India.

recorded 1,128 bird species by travelling all over
- o the country.

5 » saw the rarest species of birds.

4 # Wworked on the project, “Big Year”.

Question Number : 54 Question Id : 2062051037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the phrase ‘such exercises’ refer to?

Options:

, « Recording or documenting bird species.

> w Iravelling all over the country.

- » Mapping the country’s entire coastline.

4 » Collating data.

Question Number : 55 Question Id : 2062051038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To which place does Shashank Dalvi belong?
Options:

1 % Nicobar

> % The Himalayan region

3 « Mumbai

4 % Tibet

Question Number : 56 Question Id : 2062051039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

In what respect is the Northeast belt of India the richest?
Options:

, % Thebird. Lord Derby Parakeet belongs to this part.

- % Ithouses all the species of birds.

Two-thirds of the Indian species of the birds
-  are found there.

4 % Vvery rare birds are seen there.

Question Number : 57 Question Id : 2062051040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The species, ‘Pelagic’ or ‘offshore” birds can be spotted in:
Options:

, = Rajasthan

> % Ladakh
- » Nagaland

4 « Karnatka and Kerala

Question Id : 2062051035 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension
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Sub questions

Question Number : 53 Question Id : 2062051036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR Goral GaRT WIed 3ooi@ald 39dlied, U8

off foF =g

Options:

% W #RE # 80,000 fareiafiex i amr i

qX & F gHS gC FiEE H 1,128 gefadt w
, o FEREE (=) R

_, T #r g et

, « ‘Toer sI afdser oo R

Question Number : 54 Question Id : 2062051037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
JFIIRT TH TWE & HFATH FT FT 3/ 272
Options:

gfgrat Fr g=iaar dfEeEa (e

T SISO

1.9

2 X A H AT FHIEA

- 2T & PTH_'\USI' THS dc & ATA=FOT FIAT

o 3RSl (3TT) T HIASUT FLeAl

4.

Question Number : 55 Question Id : 2062051038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

oM ZoraT g T ¥ mEaug &7
Options:

1_551%3’?'31?

. w AT &Y



Question Number : 56 Question Id : 2062051039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT # TElcak 81T o graey # med
HF FFaeT &7 82
Options:

|« Tafr, @2 =3 Rhe 3w A ¥ wEefua §
, w T ST S Jeft FeAaar 9 A @

gférat & 9RET g=adar # ¥ o g
. » TE 9 S g

TET g ot el ews & &

Question Number : 57 Question Id : 2062051040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Yenfarer AT ‘HIGET (ATHAR) TS & IiETT &l
FET S/ T Fohall &2

Options:
. x TEE H

5 % o o8 H

OUANTITATIVE AFPTITULE
Section Id : 206205133
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 6



Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 206205133
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2062051041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the most appropriate option to identify the missing number, represented by ?, in the series.
325 314 288 247 1917

Options:
;% 126

> % 116
s % 130

i w120

Question Number : 58 Question Id : 2062051041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
qod BEA H 2 F Afka Ay mar §) v v Reedt # & w98 39gFd Reew g9 S 2 #
giaeaiaa # Tl

325 314 288 247 191 7
Options:

% 126
. % 116
2 % 130

4@ 120

Question Number : 59 Question Id : 2062051042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the most appropriate option to identify the INCORRECT number in the series.

7 1§ 40 106 183 282 403



Options:
1 ® 18

> % 282
o o 40

4 % 106

Question Number : 59 Question Id : 2062051042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
el H 7o TEAT & Jg=d i & o0 99 39999 9eT =1
s -

7 18 40 106 183 282 403
Options:

> % 282
z v 40

4 % 106

Question Number : 60 Question Id : 2062051043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the most appropriate option to identify the missing number. represented by ‘?’.

= % 40%o0f?=178
10
Options:

| « 650

> % 720

Question Number : 60 Question Id : 2062051043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



qod BEA H 2 F Afda By mar §) fGw v Reedt # & w98 39gFd feew 99 S 2 #
giaraieaT & Tl

?H%x4{]%= 78

Options:

, v 650
, % 720
- % 680

. % 620

Question Number : 61 Question Id : 2062051044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the most appropriate option to solve the given question.
(Note: You are not expected to calculate the exact value.)
23.001= 18.999 = 7998 =7

Options:

1 % 4200

> % 3000
= « 3500

4 % 4000

Question Number : 61 Question Id : 2062051044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

feT a7 FHAEOT F g FA & T I 39ged faeed gﬁ[
(AT HTIT TEF AT T I0TAT HI ST HFTHhaT AaT 21)
23.001 = 18.999 x 7.998 = ?

Options:

. = 4200

. % 3000
- 3500

4, % 4000



Question Number : 62 Question Id : 2062051045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Lokesh bought an article for T 2.500. He spent ¥ 320 on its shipping. He then sold it for ¥ 4.089. What was the
percentage profit he gained in this transaction?

Options:
L % 38%

5>  45%
3 & 46%

4 % 35%

Question Number : 62 Question Id : 2062051045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AR T 9Eg # T 2,500 F mier st T 320 3w oftwee o e T T awR SR 4089 A
a9 5T 57 I oF-3d & 38 @9 = o & giowd #=4T §7

Options:

| % 38%
> & 45%
2 = 46%

. % 35%

Question Number : 63 Question Id : 2062051046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Asum of T 10,080 is divided among A, B and © such that the ratio of A’ share fo combined (B and C)'s share is 7 0 5
and the ratio of B's share to combined (A and C)'s share is 5 ; 9. The mtio of B"s share to C's share is;

Options:

1 % 4:1
e R
=8 5rd
4.+ 6:1

Question Number : 63 Question Id : 2062051046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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GEMERAL MENTAL ABILITY AND EEASONING
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Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

206205134
4

Online
Mandatory
6

6

6

Yes

No

1
206205134
Yes

Question Number : 64 Question Id : 2062051047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third term in the same way the second term is related to the first term.

TLudhiana : Hosiery :: Surat : ?
Options:
1 ® Jute

- o Textile

- » Pottery

4 # Wool

Question Number : 64 Question Id : 2062051047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



3T e = 999 w1 3 g6t 92 ¥ 39 9N Teehvs § R ve gET 9% 9Ee 92 ¥ meeieud
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Options:
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Question Number : 65 Question Id : 2062051048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way the second term is related to the first term.

Ottawa : Canada :; Canberra: ?
Options:
, w Argentina

> % Switzerland
= % SriLanka

4 « Australia

Question Number : 65 Question Id : 2062051048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

37 fEeT & 90 FY A 3 98 @ 38 THR §FEeud g oF YR gET 98
g 92 ¥ TEEleud g

HITTET : FAST o FATT : ?

Options:

1_%3—]%?

S

o« EIESRAS

3_%%
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Question Number : 66 Question Id : 2062051049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Canoe : Yacht : Dinghy
Options:
, w These are groups of tribal people.

- % These are famous clubs.

5  These are types of boats.

4 % These are rest houses.

Question Number : 66 Question Id : 2062051049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 2062051050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Hamlet : Macbeth : Faustus
Options:
, % They were kings.



- % They are plays by Shakespeare.

-  They are famous characters from various dramas.

4 % They are characters who were murderers.

Question Number : 67 Question Id : 2062051050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 2062051051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way the second term is related to the first term.

Options:
, % 180
> % 206

5 o 216

4 % 318

Question Number : 68 Question Id : 2062051051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% 180
. = 206
2 v 216

4 % 318

Question Number : 69 Question Id : 2062051052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Acoman wears socks of e colowrs — black and brown, He has 20 black secks and 20 brown socks m otal s dewseer, 0
he has to take out & matching pair in dark, how many must he take out 1o be sure that ke has 2 socks of same colour?

Options:
1 ® 2

g4 W 39
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Question Number : 70 Question Id : 2062051053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘EVM’ stands for:
Options:

, w Electric Vending Machine

-~ » Electronic Vending Machine

-  Electronic Voting Machine

4 » None of the given options

Question Number : 70 Question Id : 2062051053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 2062051054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following was the joint winner of the Templeton Award?

Options:
1 + Baba Amte



- % Mother Teresa
- % Dr. S. Radhakrishanan

4 % Vinoba Bhave

Question Number : 71 Question Id : 2062051054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 72 Question Id : 2062051055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Bachendri Pal became famous for her success in the field of:
Options:

, % athletic skiing

- % Swimming

-  Mountaineering

4 % Joumalism

Question Number : 72 Question Id : 2062051055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 73 Question Id : 2062051056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first woman Governor of a state in free India was:
Options:
PR e
| Sarojini Naidu

> % Sucheta Kriplani

= % Indira Gandhi

4 % Vijaya Lakshmi Pandit

Question Number : 73 Question Id : 2062051056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 74 Question Id : 2062051057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arunachal Pradesh shares its border with which set of the following three countries?
Options:

, w» Bhutan. Bangladesh & China

- % Myanmar, Bangladesh & China

-  Bhutan, China & Myanmar



, % Bhutan, Bangladesh & Myanmar

Question Number : 74 Question Id : 2062051057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 75 Question Id : 2062051058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An objective of the National Food Security Mission is to increase the production of certain crops through area
expansion and preductivity enhancement in a sustainable manner in the identified districts of the country. What are
[hose crops?
Options:
; w Rice and wheat only

>  Rice, wheat and pulses only
- = Rice, wheat, pulses and oil seeds only

4 w Rice, wheat, pulses. oil seeds and vegetables

Question Number : 75 Question Id : 2062051058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 2062051059 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITEnNs history 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of haman endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 2062051060 Question Type: TYPING TEST Display Question Number : Yes

when hurmans first ventured out of Africa sorme 60,000 vears ago, they left genetic footprints still visible
today. By mapping the appearance and frequency of genetic markers in modern peoples, we create a picture of
whien and where ancient humans moved around the world. These great migrations eventually led the
descendants of a small group of Africans to occupy even the farthest reaches of the Earth. Africa is where we
first evolved, and where we have spent the majority of our time on Earth. The earliest fossils of recognizably
modern Horno sapiens appear in the fossil record at Omo Kibish in Ethiopia, around 200,000 years ago.
Although earlier fossils may be found over the coming years, this is our best understanding of when and
approxirrately where we criginated. According to the genetic and paleontological record, we only started to
leawve Africa between 0,000 and 70,000 years ago. What set this in motion is uncertain, but we think it has
sormething to do with major climatic shifts that were happening around that time, a sudden cooling in the
Earth climate driven by the onset of one of the worst parts of the last Ice Age. This cold snap would have made
life difficult for our African ancestors, and the genetic evidence points to a sharp reduction in population size
around this time. In fact, the human population likely dropped to fewer than 10,000, Once the climate started
to improve, after 70,000 years ago, we carmne back from this near extinction event. The population expanded,
and some intrepid explorers ventured bevond Africa. The earliest people to colonize the Eurasian landmass
likely did 50 across the Bab-al-Mandab Strait separating present-day Yermen from Djibouti. These early
beachcormbers expanded rapidly along the coast 1o India, and reached Southeast Asia and Australia by 50,000
years ago. The first great foray of our species beyond Africa had led us all the way across the globe. A little
after 50,000 years ago, a second group appears to have set out on an inland trek, leaving behind the
certainties of life in the tropics to head out into the Middle East and southern Central Asia. From these base
carmps, they were poised to colonize the northern latitudes of Asia, Europe, and beyond. Around 20,000 years
ago a small group of these Asian hunters headed into the face of the storm, entering the East Asian Arctic
during the Last Glacial Maxirmurm, By 15,000 years ago they had penetrated the land south of the ice, and
within 1,000 years they had made it all the way to South America. Sorme may have even made the journey by
sed. The rise of agriculture happened around 10,000 years ago.
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